
Time: 10 Minutes Paper G. Science 8th Total Marks: 10

5th Month, 4th Week, 1st Day Syllabus: Unit # 10:  Activity 10.3 to danger of

overloading and short circuit

Q.No.1 Encircle the correct answer from the following choices. (1×4=4)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

1. Lemon peoduces a very small current of about________.

»»»»¹¹¹¹ððððhhhhZZZZ™™™™....$$$$aaaaZZZZ™™™™@@@@****ììììXXXX ______ ˜̃̃̃VVVV½½½½ãããã

(a) 1mA (b) 2mA (c) 3mA (d) 4mA

2. The unit of electic power is: ZZZZ¼¼¼¼uuuu0000****zzzzgggg»»»»----....$$$$ìììì::::
(a) Volt zz« (b) Ampere Z

'.2.
ç GF
J

(c) Hertz CÙu,(d) Watt zZ^

3. The electic current of lemon is sufficient to run:

ÃÃÃÃ`̀̀̀ääääÆÆÆÆaaaa»»»»°°°°ìììì:::: ________ ˜̃̃̃VVVV»»»»ZZZZ¼¼¼¼uuuu™™™™....$$$$

(a) Calculater µ5Ó½ð G{ (b) Bulb ¢ (c) Watch {~ (d) Radio gi+-

4. Which of the following is not a safety device? ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy™™™™õõõõWWWW!!!!7777ìììì????

(a) Fuse Ai (b) Circuit breaker u–',n

(c) Switch Îó (d) Earthwire ZgBzZ],

Q.No.2. Write the short answers. (2 <<<< 3 = 6) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i)  What is one kilowatt-hour ? Zq-zZŴzgHì?
(ii) What are the dangers of overloading and short circuit?

ZzgÑe8-Zzg÷áĝu–ÆçZ]H÷?

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________
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